T R CR(A) F. E—LVF®HBEBH ©awvo)
plotalfKnowd [R) Mg =1/2978 WEZE =1000%(ST=110) BHHR=ST & /110E Ik =38283&10&14

[S] W3 =1/1998 WEZE =100.0%ST=110) BHYHR=STH /110E  EHIK=38283&10&13
W RS- 2L [YR] P2 =1/999 FEZ =1000%ST=110) EHYR=STZ /40/90 @ E Bk =32283810&12

{78 AEY—---8{H
WG BT = — ek
W77 FEE- Y
WY.L
WFEE--A1TH

[MAX HHE]

[R](14 1@ /9C)
© 4R+ 468 (&
+ 8R--- 936 {&
“16R:++1,872 {#

[s)(13 1@ /8C)
© 4R+ 384 {@
“16R" -+ 1,536 {E

[YR](12 {&@ /7C)
- 4R---308 &

“10R+ 770 &

WiEE B OtEE
ST IV R >

[%%‘[‘%E’f —‘;] oooooooo . %%%o§§§§§§o§:o:go
<SEREER= 5 E>

TR, [EAMER] CBRoET. (A EM] Tof I ET. Presented by TKC (HBE&# F—# - /7« axfiarX)




